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ueuii 1

1. dwmuelW A ={1,23}, B={456},C ={2,46},D = {1,3,5}
AVUN
1. AXB
2. AXC
3. AxXD
4. BXD
5. BxC
6. DXC
7. (AxX(BnC)
8. AxXxB)Nn(CxD)
9. AnC)x(BNnD)
10. (BNC) x D

2. ainual A ={1,3,5}, B =1{2,4},C = {x,y}
M

AXB

AXC

B XA

B xC

CXxXB

AXA

CxC

B X B
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ueuii 2

1. Amunual n(4) =20, n(B) = 28, n(C) =16,uas n(B N
C)=9

RIVAZl

n(A X B)

. n(B x ()

. n(B X A)
.N(AX(BNC)
.n(BNC)XC

2. Anual n(4) =10, n(B) =6, n(C) = 13,uay n(B N
C)=5

I

. n(A X B)

. n(B X C)

n(A x C)

.Nn(AX (BUC(C)

(A% (BNC)

.NAX(B-0C)

.n(A % (C —B)
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Tusruin 3
AW TALUULALLTUAUDIANUTUNUS

1. ={(1,5),(2,6),(3,9)}

2.7r={(x,y) ENXN/x+y=6}

3.r={(x,y) ENXN/y=3x—2,x<5}

4. r={(x,y) ENXN/2x+y=6, -2<x<1}
5.r={(x,y) ENXZ/3x—y=2, -3<x<2}



Tu9uii 4
WM TAULaZTUInaIANNFu RS sia g
1. A wwual 4 ={1,3,5,7}, B ={-1,0,1,2,3}

l.r={(x,y) EAXA/y=2x+1}
2.7r={(x,y) EBXB/x+y=2}
3.r={(x,y) EAXB/x<y+1}
4. r={(x,y) EBXA/y—x=>5}

2. Awvual 4 =1{2468}, B ={-1,0,1,2,3}

l.r={(x,y) EAXA/x+y=>9 }
2.7r={(x,y) EBXB/2x —y< -1}
3.r={(x,y) EAXB/x—y =6}
4.r={(x,y) EBXA/x*+y=4}



Tu9uii 5

WM TAULaZTUInaIANNFu RS sia g

1.r={(x,y) ERxR/y=\/x+1}

__2x+1

2.T={(x»3’) ERXR/y_sx—z}
(o ety

2x+5
.7={(x,y) ERXR/y=+5-3x }
.r={(x,y) ERXR/y=\/%}

.r={(x,y) ERXR/y=|x|-3}
r={(x,y) ERXR/|x+3|+|y—4|=9 }
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Tu9uii 6

1. vmdunassguasmuFuNus lunsazdanalaldl

1) r ={(-35),(-27),(-1,9)}

2) r={(1,a),(2,b),(3,¢c),(4,d)}
3) r ={(x,¥)ly =2x + 9}

D r={ylxy—x+3y+2 =0}
5) r ={(x,y)|y = V2x + 3}

2. NANTIWAUNATIANUFUNUBUDINTIN
1) r= {(_111)1 (_2,2), (_3,3), (_4‘,4‘)}
2) r={(x,y) ERXR|y =2x — 4}
3)

4)




Tuguii 7
W D, way R, a9 r~Lfladiviue r dosialudl
1) r ={(3,5),(7,9),(11,13)}
2) r ={(x,y) ERXR|y = \/m}
3 r={enly =)

4 r={Gy|y=-"-}

1+|x|




Tuduti 8

1. Avualv f = {(1,2),(3,4),(5,6)} 29n f(1),f(3),f(5)

2. MnuUalA f(x) = 3 — x2 9niAuad

1) f(D)

2) £(10)

3) £(0)

4) f(a)

5) f(b+1)

6) f(—4) +2f(3)
5f(—1)—4f(0)

7) f(10)

2x% , x< -1
3.muual f(x) =] —3x ,-1<x<1
5x+1 ,x =1
asmA luusazasia‘lydl

1) f(3)

2) F(=1)

3) f(V2)

4) f(5) - f(-2)

5) 2f(1) —4f(=3)



Tuduti 9

ANUATH f(x +2) =2x+3 uas g(2x — 1) = 4x% — 4x WA
sia'ludl

1. f(2)

2. g(=2)
3. f(g(5))
4. g(f(-1))



1uduii 10

1. Anuali
f=1{12),(23),(34),(45)} was g ={(2,1),(1,-3),(3,7), (4,2)}
ENAZA
)f+g
2)f—-g
3)feg
4)f+g

2. AnuUalu f = {(-5,-9),(-3,-2),(1,8), (2,0)}
g ={(—4,5),(-3,8),(1,0), (2,4)}
h = {(=5,—12), (—4,-10),(1,-6),(2,9)}
ENAZ

1) f+g

2)f—yg

3)g—h

4)g+h

5) hof

6) f+g)+h

7)g-hn-f

8 h—(f—-9)

12



1.

2.

lugui 11

Amual f(x) = x2 — 7x
gx) =x-9
A

1) (f+9)®)
2) (f —9)(x)
3) (feg)(®)
4) (f ~9)(®)

x2+10x+24
x—3

Auali f(x) =

x2-5x+4
x—3

glx) =

AN

1) (9+ )
2) (g = Hx)
3) (g°Hx)
4) (9 + )

13
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Tudui 12

ANRUATA f = {(1,2),(2,4), (3,9), (4,—2), (5 —1)}
g = {(_112)r (_2;3); (_3r4)r (2,10), (9:13)}

AU

fog

gof

fof

goyg

flg(=1))

f(g9(=3))

g(f(v)

g(f(3))
9. g(f(9)
10.

Amual f(x) = x + 3

gx)=2x—-1

® N AWM

AU

1) (fog)(x)
2) (gof)(x)
3) (fof)(x)
4) (gog)(x)

Amual f(x) =x — 10
gx)=2x+3
RIVAZl

1) (fog)(5)
2) (gof)(—1)
3) (fof)(2)
4) (gog)(—3)
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